
[image: image1.jpg]B. Determine +he Nomﬂalf{'\d of solbimof L Liés
'Hr\,o:{' C°n+u-n .DL,,/V)OLL, Alch)J

qQ, /JO\.,-IM:M..\ M'/IIIUJ o YSN 1-]2_504 Soldbia, woeuld
bt Reguitsd 4o PRepare 1500m2 of 2.4 M IJzSo«(
50[,0'\,\0’1

0. whet vol of 5 N Hzoq wold be. reguiass +o
Fapere 5. 4L o 8M HsPO4 soltion’

1. IF /5.0 .m0 of O.0zs6 M cguenus H2s04 s reguiaed

+to n&u{ral:_z',b 10.0 Mm@ of Qqueous KOoH Solu{‘u;"’!,bo’/lf&"
15 the YV\D[aAH\A ol Haw KoH solut,an?

2. In o hileadion expeammet, o (2.5 mQ Scmple of
0.0175M Pa(oH ). yust nevlealsed 145 m0 of
HNo3 . ColedaksHhe Molaaity of +he HNO3 sold.

3. How many milllidees of 4 H HaSoy seloba
U,)oul.d loe (‘Uludup( +o ﬂ!;u*‘(‘c..léc. S50.0 -0 of 0. 3%0
M CaloH)2>




[image: image2.jpg]l|+ f-c JSS_M_Q O@ ,L{SD M }'lSFO’-I V)Qul'(‘al.slg_;
5 me of g ucevs No.OH 5‘,[4{-“6—,, lhow mén\-& e)ans o
NaOH wWeke VSed 4o prc ke Hase MaiOH Slobisn?

IS /..lo\,o el Coneitrated /2 M Hci (s Needed +c
PRepaRe 500ml pl .S M =_lcbns?




